
 

Part-II/D/50 ( 3 )    P. T. O. 

1. f'k'kqvkas ds flj o 'kjhj dk vuqikr gksrk gS 
 

(1) 1 : 7 

(2) 1 : 4 

(3) 1 : 3 

(4) 1 : 9 

 
1. The ratio between head and body of 

infants is 

(1) 1 : 7 

(2) 1 : 4 

(3) 1 : 3 

(4) 1 : 9 

2. 1-5 eghus rd ds cPpksa dks dkSu-lk Vhdk 
ugha nsuk pkfg,   

(1) iksfy;ks 

(2) Vk;QkbM 

(3) ch0 lh0 th0 

(4) Mh0 ih0 Vh0 

 
2. Which vaccine should not be given to 1-5 

months old children  

(1) Polio 

(2) Thyphoid 

(3) B. C. G. 

(4) D. P. T. 

3. f'k'kq ds tUe ds  7-10 fnu rd ekrk dk 
nw/k dgykrk gS 

(1) dksyksdsfl;k 

(2) dksyLVªe 

(3) dksysLVªky  

(4) DykLVªhfM;e 

 
3. The milk secreted during first 7-10 days 

after the birth of a baby is called 

(1) Collocasia 

(2) Colostrum  

(3) Cholestrol 

(4) Clastridium 

4. cPpksa esa lkekftd fodkl dh 'kq#vkr dk 
izFke ladsr gS 

(1) lkekftd eqLdqjkgV 

(2) ny lnL;rk 

(3) lewg [ksy 

(4) mijksDr esa ls dksbZ ugha 

 
 4. The first indicator of the beginning of 

social development in children is 

(1) Social smile 

(2) Gang membership 

(3) Group play 

(4) None of these 

5. euq"; ds thou esa fdrus nk¡r nks ckj vkrs gSa 

(1) 20 

(2) 16 

 
5. How many teeth grow twice in human life 

(1) 20 

(2) 16 

www.s
at

ish
le

ct
ur

er
.c

om



 

Part-II/D/50 ( 4 )  

(3) 32 

(4) 12  

(3) 32 

(4) 12 

6. 'kS'kokLFkk gS ^^tUe ls nks lIrkg rd** ;g 
oxhZdj.k fdl euksoSKkfud }kjk fn;k x;k gS 
 

(1) dksyslfuu  

(2) jkWl 

(3) gjykWd 

(4) yhxUl 

 
6. The classification of infancy "from birth 

to two weeks" is given by which 
psychologist 

(1) Kolesnin 

(2) Ross  

(3) Hurlock 

(4) Legans 

7. ckydksa ds laosx dk egÙo gS] D;ksafd ;g 
lgk;d gS 

(1) Hkk"kk fodkl esa 

(2) vknrksa ds fuekZ.k esa 

(3) vkReewY;kadu ,oa lkekftd lek;kstu esa 

(4) mijksDr lHkh ds fy, 

 

7. Children's emotion is important, because 
it is helpful in 

(1) Development of language 

(2) Creation of habits 

(3) Self evaluation and social adjustment 

(4) All of the above 

8. ckydksa ds 'kkjhfjd fodkl esa lcls egÙoiw.kZ 
dkjd gS 

(1) LoPNrk 

(2) O;k;ke 

(3) iks"k.k  

(4) funzk 

 

8. Most important factors influencing 
physical development in children is 

(1) Sanitation 

(2) Excercise  

(3) Nutrition 

(4) Sleep 

9. fØ;kRed fodkl dk vFkZ gS  

(1) ekalisf'k;ksa dk ,dhdj.k 

 

9. The meaning of motor development is 

(1) Unification of muscles 
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Part-II/D/50 ( 5 ) P. T. O. 

(2) ekalisf'k;ksa dk mfpr la;kstu 

(3) ekalisf'k;ksa dk fu;U=.k 

(4) mi;qZDr lHkh 

(2) Optimum co-ordination of muscles 

(3) Control of muscles 

(4) All of the above 

10. x`gO;oLFkk esa vk;kstu dk eq[; pj.k gS 
 

(1) mi;qDr fodYi dk pquko djuk 

(2) dk;Z ;kstuk rS;kj djuk 

(3) leL;k dh igpku djuk 

(4) mijksDr lHkh 

 

10. The main step of planning in home 
management is 

(1) To select appropriate alternative 

(2) To prepare a work plan 

(3) To identify the problem 

(4) All of the above 

11. ckydksa esa ccykus dh voLFkk gS 

(1) 1-5 ekg 

(2) 1-3 ekg 

(3) 1- 13 ekg 

(4) 2-9 ekg 

 

11. Stage of babbling in children is 

(1) 1-5 months 

(2) 1-3 months  

(3) 1-13 months 

(4) 2-9 months 

12. cPpksa esa Hkk"kk lEcU/kh nks"k dk dkj.k fuEu esa 
ls dkSu-lk gS 

(1) rqrykuk 

(2) gdykuk 

(3) Hkz"V mPpkj.k  

(4)  mijksDr lHkh 

 

12. Which one of the following reasons for 
speech defect in children is  

(1) Stuttering 

(2) Stammering  

(3) Lisping 

(4) All of the above 

13. vf/kxe dh izfØ;k esa iz;ksx gksrk gS 

 

13. In the process of learning we used 
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Part-II/D/50 ( 6 )  

(1) fpUru 'kfDr dk 

(2) rdZ'kfDr dk 

(3) Hkk"kk dk  

(4) mijksDr lHkh 

(1) Thinking power 

(2) Logical power  

(3) Language 

(4) All of the above 

14. 'kS'kokoLFkk gS 

(1) laosxkRedrk dh voLFkk 

(2) lek;kstu dh voLFkk 

(3) ijk/khurk dh voLFkk 

(4) mijksDr lHkh 

 

14. Infancy state is the 

(1) Period of emotionality 

(2) Period of adjustment 

(3) Period of dependency 

(4) All of the above 

15. lkekftd fodkl dks dkSu lk rRo izHkkfor 
djrk gS 

(1) Ldwy 

(2) ikfjokfjd okrkoj.k 

(3) vkfFkZd fLFkfr  

(4) mijksDr lHkh 

 

15. Which factor affects social development 
 

(1) School 

(2) Family environment  

(3) Economic condition 

(4) All of the above 

16. ckydksa ds o`f) ,oa fodkl dks fuEu ls dkSu-
lk vf/kd izHkkfor djrk gS 

(1) iztkfr 

(2) Ldwy 

(3)  cqf) 

(4) buesa ls dksbZ ugha 

 

16. Which one of the following mostly affects 
the growth and development of children 

(1) Race 

(2) School 

(3)  Intelligence  

(4) None of these 
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17. tUe ds fdrus le; ckn cPps dk otu rhu 
xquk gks tkrk gS 

(1) 3 ekg esa 

(2) 6 ekg esa 

(3) 9 ekg esa 

(4) 12 ekg esa 

 

17. After how much time from birth the 
weight of the child becomes three times  

(1) In 3 months 

(2) In 6 months 

(3) In 9 months 

(4) In 12 months 

18. cPpksa esa laosx fu;U=.k dh mÙke fof/k gS  
 

(1) neu 

(2) v/;olk; 

(3) 'kks/ku  

(4) LorU= Hkko  

 
18. The best method in children for 

controlling emotion is  

(1) Repression 

(2) Industriousness  

(3) Sublimation 

(4) Free expression 

19. fuEu esa ls D;k xyr gS 

(1) fodkl dk ,d fuf'pr izfr:i ugha gksrk 

(2) fodkl ifjiDork o f'k{k.k dk ifj.kke gS 

(3) fodkl esa O;fDrxr foHksn jgrs gSa  

(4) fodkl lkekU; ls fo'ks"k dh vksj gksrk gS 

 

19. Which one of the following is wrong 

(1) Development not follows a certain 
pattern 

(2) Development is the result of maturation 
and learning 

(3) Individual differences remain constant 
in development 

(4) Development proceeds from general to 
specific 

20. ,d f'k'kq ds fy, eka dk nw/k ykHkdkjh gS] 
D;ksafd ;g  

(1) vklkuh ls ip ldrk gS 

(2) lEiw.kZ vkgkj gS 

 

20. Mother's milk is useful for an infant 
because it is 

(1) Easily digestible 

(2) A complete food 
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Part-II/D/50 ( 8 )  

(3) nwf"kr ugha gS 

(4) mi;qZDr lHkh 

(3) Uncontaminated 

(4) All of the above 

21. Loj-fopkj ?kVd gS 

(1) ifjiDork dk 

(2) vuqokaf'kdrk dk 

(3) lh[kus dk 

(4) O;fDrRo dk 

 

21. Self concept is a component of 

(1) Maturation 

(2) Heredity 

(3) Learning 

(4) Personality 

22. jksx ds thok.kqvksa dk 'kjhj esa izos'k djus o 
y{k.k izdV gksus rd ds le; dks dgrs gSa 
 
 

(1) jksxkoLFkk 

(2) laØe.k dky 

(3) mn~Hkou dky 

(4) buesa ls dksbZ ugha 

 
22. The time period between entering of 

bacterias into the body of patient and 
appearance of symptoms of disease is 
known as 

(1) Disease 

(2) Infection period 

(3) Incubation period 

(4) None of these 

23. 'osr jDr d.k ls mRiUu jksx fujks/kd {kerk 
fuEufyf[kr dksfV ds vUrxZr vkrh gS 

(1) Ñf=e jksx {kerk 

(2) izkÑfrd jksx {kerk 

(3) vftZr jksx {kerk 

(4) buesa ls dksbZ ugha 

 

23. The immunity due to white blood 
corpuscles is categorised under 

(1) Artificial immunity 

(2) Natural immunity 

(3) Acquired  immunity 

(4) None of these 

24. Hk{kdk.kq gS  

 

24. Phagocytes are 

www.s
at

ish
le

ct
ur

er
.c

om



  

Part-II/D/50 ( 9 ) P. T. O. 

(1) 'osr jDr df.kdk,¡ 

(2) yky jDr df.kdk,¡ 

(3) fof'k"V dksf'kdk,¡ 

(4) dksf'kdknzO;h vaxd 

(1) White Blood corpuscles 

(2) Red Blood corpuscles 

(3) Special cells 

(4) Cytoplasmic bodies 

25. thok.kqvksa dh loZizFke [kkst dh Fkh 

(1) ,.Vksuh okWu Y;wosugkWd us 

(2) ik'pj us 

(3) jkcVZ dksp us 

(4) jkcVZ gqd us 

 

25. Bacteria were first discovered by 

(1) Antony Von Leuwenhoch 

(2) Pasteur 

(3) Robert Koch 

(4) Robert Hooke 

26. ,.Vvehck fgLVksfyfVdk dkj.k gS 

(1) pspd dk 

(2) gSTkk dk 

(3) vehfc,fll dk 

(4) {k;jksx dk 

 26. Entamoeba histolytica is the cause of 

(1) Small pox 

(2) Cholera 

(3) Amoebiasis 

(4) Tuberculosis 

27. fuEufyf[kr tksM+ksa esa fdldk esy lgh gS 
  

(1) LdohZ – Fkk;feu 

(2) eysfj;k & DyksjksDohu 

(3) jkt;{ek & ,0 Vh0 ,l0 

(4) fVVsul & ch0 lh0 th0 

 

27. Which one of the following pair is correctly 
matched 

(1) Scurvy-Thiamine 

(2) Malaria-Chloroquine 

(3) Tuberculosis- A. T. S 

(4) Tetanus-B. C. G. 

28. ,M~l fo"kk.kq u"V djrk gS 'kjhj dh 

(1) ;Ñr dks 

(2) jksx izfrjks/kd rU= dks 

 

   28. AIDS virus destroy the body's 

(1) Liver 

(2) Immune system 
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Part-II/D/50 ( 10 )  

(3) yky jDr df.kdkvksa dks  

(4) ifjlapj.k rU= dks 

(3) Red blood corpuscles 

(4) Circulatory system 

29. fuEufyf[kr esa ls dkSu-lk jksx fo"kk.kq }kjk 
gksrk gS 

(1) jksfg.kh 

(2) Vk;QkbM 

(3) bU¶yw,Utk 

(4) gStk 

 

29. Which of the following disease is caused 
by virus 

(1) Diphtheria 

(2) Thyphoid 

(3) Influenza 

(4) Cholera 

30. ch0 lh0 th0 oSDlhu dk iz;ksx fd;k tkrk gS 

(1) jkt;{ek esa 

(2) fueksfu;k esa 

(3) fM¶Fkhfj;k esa 

(4) buesa ls dksbZ ugha 

 

30. B. C. G. vaccine is used in   

(1) Tuberculosis 

(2) Pneumonia 

(3) Diphtheria  

(4) None of these 

31. fuEufyf[kr esa ls dkSu thok.kqvksa }kjk mRiUu 
jksx gS 

(1) Vk;QkbM] risfnd] fM¶Fkhfj;k 

(2) pspd] gStk] tqdke 

(3) fueksfu;k] iksfy;ks] eysfj;k 

(4) [kljk] d.kZQsjs] dqdqj [kkalh 

 31. Which one of the following is a bacterial 
disease 

(1) Typhoid, Tuberculosis, Diphtheria 

(2) Smallpox, Cholera, Common cold  

(3) Pneumonia, Polio, Malaria 

(4) Measles, Mumps, Whooping Cough 

32. fuEu esa ls dkSu lh jDr df.kdk,¡ jDr esa 
lcls de la[;k esa gksrh gS 

(1) yky jDr df.kdk,¡ 

(2) 'osr jDr df.kdk,¡ 

(3) yky jDr df.kdk,¡ o 'osr jDr df.kdk,¡ 

(4) IysVysV~l 

 

32. Which one of the following corpuscles 
are the lowest in number in blood  

(1) Red Blood Corpuscles 

(2) White Blood Corpuscles 

(3) R. B. C. & W. B. C.  

(4) Blood platelets 
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33. iksfy;ks jksx gS 

(1) thok.kq tfur 

(2)  ok;jl tfur 

(3) (1) rFkk (2) nksuksa 

(4) buesa ls dksbZ 

 
33. Polio is a disease 

(1) Bacterial 

(2) Viral 

(3) Both (1) & (2) 

(4) None of these  

34. thok.kq }kjk mRiUu fo"kSyk inkFkZ dgykrk gS 

(1) vkWDlhu 

(2) VkWDlhu 

(3) izfrtSfod 

(4) ,.VhVkWfDlu 

 

34. Toxic substance produced by bacteria are 
called 

(1) Auxin 

(2) Toxin 

(3) Antibody 

(4) Antitoxin 

35. yky jDr df.kdkvksa dh vkSlr vk;q gksrh gS 

(1) 90 fnu 

(2) 120 fnu 

(3) 100 fnu 

(4) 60 fnu 

 
35. The average life span of Red Blood 

corpuscles is  

(1) 90 days 

(2) 120 days 

(3) 100 days 

(4) 60 days 

36. [kljk jksx gksrk gS 

(1) thok.kqvksa ls 

(2) izksVkstksvk ls 

(3) iSjklkbV ls  

(4) fo"kk.kqvksa ls 

 36. Measles disease is caused by 

(1) Bacteria 

(2) Protozoa 

(3) Parasites 

(4) Virus 

37. vfrlkj jksx gksrk gS 

(1) izksVkstksvk ls 

(2) thok.kqvksa ls  

 

37. Diarrhoea is caused by 

(1) Protozoa 

(2) Bacteria 
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Part-II/D/50 ( 12 )  

(3) fo"kk.kqvksa ls  

(4) buesa ls dksbZ ugha 

(3) Virus  

(4) None of these 

38. iksfy;ks fdl rU= dks izHkkfor djrk gS 

(1) is'kh; rU= dks 

(2) vfLFk rU= dks 

(3) Luk;q rU= dks 

(4) buesa ls dksbZ ugha 

 

38. Polio affects which system 

(1) Muscular system 

(2) Skeleton system 

(3) Nervous system 

(4) None of these 

39. chekjh esa jksxk.kqvksa dk fu"dklu gksrk gS 

(1) yky jDr dksf'kdkvksa }kjk Hk{kdk.kqdrk ls 

(2) Årdksa esa mRikfnr thofo"k dh lgk;rk 
ls ekjdj 

(3) jksxk.kqvksa ds pkjksa vksj #f/kj LdUnu ls 

(4) 'osr #f/kj dksf'kdkvksa }kjk Hk{kdk.kqdrk ls 

 

39. During illnes the germs are removed by 

(1) Phagocytosis by Red Blood Cells 

(2) Their killing with the help of toxins 
produced in the tissues 

(3) Blood coagulation around the germs 

(4) Phagocytosis by White Blood Cells 

40. efLr"d ds lkekU; fodkl ds fy, dkSu-lk 
[kfut yo.k vko';d gS 

(1) eSXuhf'k;e 

(2) yksgk 

(3) ftad 

(4) dksckYV 

 

 40. Which of the mineral is required for 
normal development of brain  

(1) Magnesium 

(2) Iron 

(3) Zinc 

(4) Cobalt 

41. ckydksa ds leL;kRed O;ogkj ds fy, dkSu 
dkjd ftEesnkj gS 

(1) Ldwy 

(2) ifjokj 

(3) lekt 

(4) mijksDr lHkh 

 41. For problematic behaviour of children which 
of the following factor is responsible  

(1) School 

(2) Family 

(3) Society 

(4) All of the above 

42. fuEu esa dkSu O;ogkj cky vijk/k ls 
 

42. Which of the following behaviour is 
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lEcfU/kr gS 

(1) ;kSu vijk/k 

(2) ekjihV djuk 

(3) pksjh djuk 

(4) mijksDr lHkh 

related with delinquency 

(1) Sex delinquency 

(2) Quarrelling 

(3) Stealing 

(4) All of the above 

43. 25-50 ds chp cqf)yfC/k okyk cPpk dgykrk 
gS  

(1) eUn  

(2) ew[kZ  

(3) ew<+ 

(4) tM+cqf) 

 
43. A child with I. Q. between 25-50 is called 

(1) Dull 

(2) Moron  

(3) Imbecile 

(4) Idiot 

44. cPps dks fdl ifjfLFkfr esa Vhdk ugha fn;k 
tkrk 

(1) dSalj esa 

(2) laØe.k dh fLFkfr esa 

(3) cq[kkj esa 

(4) mijksDr lHkh fLFkfr;ksa esa 

 
44. In which condition immunization is not 

done in children 

(1) Cancer 

(2) Infection 

(3) Fever 

(4) All of the above 

45. de ckSf)d {kerk okys cPpksa ds fy, fuEu esa 
ls fdldh LFkkiuk dh tkrh gS 

(1) cksLVZy laLFkk,¡ 

(2) izekf.kr Ldwy 

(3) lgk;d x`g 

(4) lq/kkj x`g 

 
45. Which one of the following arrangement 

is done for feeble minded children 

(1) Borstal Institutions 

(2) Certified school 

(3) Auxiliary home 

(4) Reformatory home 

46. fuEu esa dkSu dFku lgh gS 

(1) iwoZ ckY;okLFkk ^fLFkjrk o 'kkfUr dh 
voLFkk gS* 

(2) iwoZ ckY;koLFkk ^lewg iwoZ* dh voLFkk gS 

(3) iwoZ ckY;koLFkk ^leL;k voLFkk gS* 

 46. Which one of the following statement is true 

(1) Early childhood is the 'Age of stability 
and peace' 

(2) Early childhood is 'Pregang Age' 

(3) Early childhood is 'Problem Age' 
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Part-II/D/50 ( 14 )  

(4) mijksDr lHkh (4) All of the above 

47. ckydksa esa leL;kRed O;ogkj dk lek/kku gS 
 

(1) mfpr ikyu iks"k.k 

(2) dBksj vuq'kklu 

(3) dBksj n.M 

(4) mijksDr lHkh 

 

47. The solution of problematic behaviour in 
children is  

(1) Proper care 

(2) Strict Discipline 

(3) Harsh punishment 

(4) All of the above 

48. Vh0 ,0 ch0 oSDlhu dk mi;ksx gksrk gS 

(1) Vk;QkbM esa 

(2) fVVusl esa 

(3) fM¶Fkhfj;k esa 

(4) risfnd esa 

 
48. T. A. B. vaccine is used in 

(1) Typhoid 

(2) Tetenus 

(3) Diphtheria 

(4) Tuberculosis 

49. cky e`R;q ls rkRi;Z gS 

(1) tUe ls iwoZ xHkZ esa ckyd dh e`R;q 
 

(2) tUe ds nks o"kZ ds vUnj ckyd dh e`R;q 
 

(3) tUe ds le; ckyd dh e`R;q 

(4) mijksDr lHkh 

 
49. The meaning of child death is 

(1) Death of a child in pregnancy before 
birth 

(2) Death of a child within two years after 
birth 

(3) Death of a at the birth time 

(4) All of the above 

50. cPpksa esa vØkedrk fdl mez esa pje lhek 
ij gksrh gS 

(1) 12 o"kZ esa  

(2) 10 o"kZ esa 

(3) 2 o"kZ esa 

(4) 5 o"kZ esa 

 
  50. In which stage agressiveness is at peak 

in children 

(1) 12 years 

(2) 10 years 

(3) 2 years 

(4) 5 years 

51. cPpksa esa >wB cksyus dk dkj.k gS 

(1) 'kkjhfjd] ekufld detksjh 

  51. The reason of telling lie in children is  

(1) Physical, mental weakness 
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(2) i{kikriw.kZ O;ogkj 

(3) uotkr f'k'kq dk tUe 

(4) mijksDr lHkh 

(2) Partial behaviour 

(3) Birth of newly born baby 

(4) All of the above 

52. 10 o"kZ ls de mez ds cky vijkf/k;ksa dks 
j[kk tkrk gS 

(1) lq/kkj x`gksa esa  

(2) mÙkj j{kk laLFkkvksa esa 

(3) iks"k.k o lgk;d x`gksa esa 

(4) izekf.kr Ldwyksa esa 

 
52. Child delinquent who of is below 10 years 

age are kept in 

(1) Reformatories 

(2) After care institution 

(3) Foster homes and auxiliary homes 

(4) Certified schools 

53. de lquus okys ckydksa dh f'k{kk gsrq fdl 
fof/k dk mi;ksx fd;k tkrk gS 

(1) Hkk"kk fpUg fof/k dk 

(2) ekSf[kd fof/k dk 

(3) ÜkzO;-n`'; fof/k dk 

(4) mijksDr lHkh 

 
53. Which method is used for hard hearing 

children for their education 

(1) Symbolic language 

(2) Oral method 

(3) Audio-visual method 

(4) All of the above 

54. vfrlaj{k.k izkIr gksus ls cPps gksrs gSa 

(1) vk'kkoknh 

(2) fujk'kkoknh 

(3) >xM+kyw ,oa mnklhu 

(4) vfLFkj 

 

54. Due to more protection children become  

(1) Optimist 

(2) Pessimist 

(3) Quarrelsome and sad 

(4) Unstable 

55. ,dhd`r cky fodkl ;kstuk Hkkjr ljdkj us 
vkjEHk fd;k 

(1) 1975 

(2) 1960 

(3) 1957 

 

55. Integrated child development service scheme 
were started by government of India in year 

(1) 1975 

(2) 1960 

(3) 1957 
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(4) 1970 (4) 1970 

56. ,DVksekfQZd O;fDrRo okys O;fDr gksrs gSa 
 

(1) nq[kh 

(2) LoLFk 

(3) nqcyk] detksj o yEck 

(4) NksVk o eksVk 

 56. The person having ectomorphic 
personality are  

(1) Sad 

(2) Healthy 

(3) Think, Weak and Tall 

(4) Small & Fatty 

57. 90-110 vkbZ0 D;w0 okyk cPpk dgykrk gS 

(1) eksjksu 

(2) eUn  

(3) lkekU; 

(4) izfrHkk'kkyh 

 
57. A child with I. Q. 90-110 is called 

(1) Moron 

(2) Dull 

(3) Normal  

(4) Gifted 

58. 15-21 o"kZ ds vijkf/k;ksa dks j[kk tkrk gS 
 

(1) cksLVZy laLFkkvksa esa 

(2) lq/kkj x`g esa 

(3) iks"k.k x`gksa esa 

(4) izekf.kr Ldwy esa 

 

58. The delinquents of 15-21 years of age are 
kept in 

(1) Borstal institutions 

(2) Reformatory home 

(3) Foster homes 

(4) Certified school 

59. vkbZ0 lh0 Mh0 ,l0 dk;ZØe ykHknk;d gS  

(1) Lruiku efgykvksa gsrq 

(2) iwoZ Ldwy xkeh cPpksa gsrq  

(3) xHkZorh efgykvksa gsrq 

(4) mijksDr lHkh ds fy, 

 
59. ICDS programme is beneficial for   

(1) Lactating mothers 

(2) Preschool children 

(3) Pregnant Women 

(4) All of the above 

60. cPpksa esa pksjh djus dk dkj.k gS  

(1) viuh eu ilUn oLrq izkIr djus gsrq 

 

60. The reason of stealing in children is  

(1) To get one's favourite things 
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(2) cPpksa dk eUn cqf) gksuk 

(3) ckyd ds thou esa vHkko gksuk 

(4) mijksDr lHkh 

(2) Dullness of children 

(3) Shortage of things in the life of children 

(4) All of the above 

61. vfrlkj esa fdl pht dk ?kksy nsuk pkfg, 
 

(1) lknk ikuh 

(2) ued o 'kDdj dk ?kksy 

(3) uhacw dk ?kksy 

(4) phuh dk ?kksy 

  61. Which one of the following solutions 
need to be given to control diarrhoea 

(1) Pain water 

(2) Salt and Sugar Solution 

(3) Lemon Solution 

(4) Sugar Solution 

62. iznwf"kr ty mRiUu dj ldrk gS  

(1) HkksT; fo"kkDrrk 

(2) jDr fo"kkDrrk 

(3) ihfy;k  

(4) [kljk 

 

62. Polluted water may cause 

(1) Food poisoning 

(2) Blood poisoning 

(3) Jaundice 

(4) Measles 

63. ^vUrjkZ"Vªh; bdkbZ gS*  
 

(1) ,d laLFkk 

(2) fo'o LokLF; laxBu 

(3) foVkfeu A o D dks ukius dh bdkbZ  

(4) mijksDr lHkh 

 

63. 'International Unit' is 

(1) An Institution 

(2) World Health Organisation 

(3) Used in measurement of Vitamin 'A' 
and 'D' 

(4) All of the above 

64. Mh0 ih0 Vh0 oSDlhu fdl jksx izfrj{k.k gsrq 
nh tkrh gS  

(1) fM¶Fkhfj;k] iksfy;ks] Vk;QkbM 

(2) fM¶Fkhfj;k] dqdj [kkalh] fVVsul 

(3) fM¶Fkhfj;k] iksfy;ks] fVVsul 

(4) mijksDr lHkh 

 

  64. D. P. T. vaccine is given for immunity 
against disease 

(1) Diphtheria, Polio, Thyphoid 

(2) Diphtheria, Whooping cough, Tetanus 

(3) Diphtheria, Polio, Tetanus 

(4) All of the above  
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65. ÅtkZ dh vko';drk lcls vf/kd gksrh gS  

(1) nkSM+us esa  

(2) rSjus esa 

(3) lh<+h p<+us esa 

(4) lksus esa  

 

65. Most energy is required in 

(1) Running 

(2) Swimming 

(3) Walking upstair 

(4) Sleeping 

66. fuEufyf[kr esa ls dkSu lk pH eku izcy 
vEyh; gS 

(1) pH5 

(2) pH2 

(3) pH7.2 

(4) pH7 

 66. Which one of the following pH value is 
strongly acidic 

(1) pH5 

(2) pH2 

(3) pH7.2 

(4) pH7  

67. ,d ekbØkWu gksrk gS 

(1) 1/100 feeh0 

(2) 1/10 feeh0 

(3) 1/1000 feeh0 

(4) 1/10000 feeh0 

 

67. A micron is equal to 

(1) 1/100 mm 

(2) 1/10 mm 

(3) 1/1000 mm 

(4) 1/10000 mm 

68. foVkfeu ^bZ* dk jklk;fud uke gS 

(1) ,DlsjksQkbVkWy 

(2) dSYlhfQjkWy 

(3) VksdksfQjkWy 

(4) ,LdkfcZd vEy 

 

68. The chemical name of vitamin 'E' is 

(1) Axerophytol 

(2) Calciferol 

(3) Tocopherol 

(4) Ascorbic Acid 

69. xHkZdkyhu fodkl dks fuEufyf[kr esa ls dkSu 
izHkkfor ugha djrk gS 

(1) ek¡ dk laosx 

(2) ek¡ dk f'k{kk 

 

69.b Which of the following not influence the 
Prenatal development 

(1) Maternal emotion 

(2) Maternal education 
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(3) ek¡ dk LokLF; 

(4) ek¡ dk vkgkj 

(3) Maternal health 

(4) Maternal diet 

70. larqfyr vkgkj ls rkRi;Z gS  

(1) ,slk Hkkstu ftlesa lHkh HkksT; lewg 
lfEefyr gks 

(2) ,slk Hkkstu tks ikSf"Vd gks 

(3) ,slk Hkkstu ftlesa lHkh ikSf"Vd rRo 
larqfyr ek=k o vuqikr esa fdlh O;fDr 
ds 'kkjhfjd ek¡x ds vuqlkj gks 

(4) buesa ls dksbZ ugha 

 

70. Balanced diet means 

(1) The food which contains all food groups 

(2) Nutritious food 

(3) Food which contains all nutrients in 
proper proportion, source according to 
daily requirement for any person 

(4) None of these 

71. foVkfeu ch12 dh vko';drk gksrh gS    

(1) LoLFk nk¡r gsrq 

(2) yky jDr d.kksa ds fuekZ.k gsrq 

(3) jDr LdUnu esa 

(4) LoLFk isf'k;ksa gsrq 

 71. Vitamin B12 is necessary for 

(1) Healthy teeth 

(2) Formation of R. B. C 

(3) Blood cloting 

(4) Healthy muscles 

72. ;|fi lsY;wykst Xywdkst dk gh ,d cgqyd 
gS] fdUrq ;g ekuo tkfr ds fy, Bhd Hkkstu 
ugha gS] D;ksafd  

(1) lsY;wykst ikuh esa v?kqyu'khy gS 

(2) lsY;wykst ikpu rU= esa ty vi?kfVr 
ugha gksrk 

(3) lsY;wykst dk Lokn ehBk ugha gksrk 

(4) buesa ls dksbZ ugha 

 

72. Cellulose although a glucose polymer, is 
not good food for human being, because 

(1) Cellulose is insoluble in water 

(2) Cellulose is not hydrolysed to glucose 
in the digestive system 

(3) Cellulose does not have sweet taste 

(4) None of these 

73. ,d xHkZorh efgyk dks izfrfnu vfrfjDr 
izksVhu dh vko';drk gksrh gS  

(1) + 45 xzke 

 

73. During pregnancy daily additional protein 
requirement is  

(1) +45 g 
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(2) + 15 xzke 

(3) + 30 xzke 

(4) + 50 xzke 

(2) + 15 g 

(3) + 30 g 

(4) + 50 g 

74. lkekU;r% de izksVhu okyk vkgkj fn;k tkrk 
gS 

(1) tyus ij 

(2) ihfy;k esa 

(3) cq[kkj esa 

(4) dqiks"k.k esa 

 

  74. Generally less proteinious food is given 
in case of 

(1) Burning 

(2) Jaundice 

(3) Fever 

(4) Malnutrition 

75. xHkkZ'k; esa fodflr gks jgsa Hkwz.k dks fuEukafdr 
esa ls fdl lajpuk }kjk iks"k.k feyrk gS  

(1) vijk }kjk 

(2) v.Mokfguhuyh }kjk 

(3) ck;kWIlh }kjk  

(4) mijksDr fdlh ds }kjk ugha 

 
75. Developing embryo in uterus receives 

nutrient by which way  
 

(1) Placenta 

(2) Fallopian tube 

(3) Biopcy 

(4) None of these 

76. fuEufyf[kr esa ls fdldh ek=k c<+us ij  
ân; jksx gksus dk [krjk jgrk gS 

(1) dksysLVªky 

(2) fgisjhu 

(3) gheksXyksfcu  

(4) dksyhu 

 

76.e  The danger of heart attack increased due 
to increase in which one of the following 

(1) Cholestrol 

(2) Heparin 

(3) Haemoglobin 

(4) Colin 

77. 'kq) ty dk pH gksrk gS  

 

77. The pH of pure water is 
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(1) 9  

(2) 7 

(3) 3 

(4) 10 

(1) 9  

(2) 7 

(3) 3 

(4) 10 

78. Lruiku f'k'kqvksa gsrq ykHkiw.kZ gS] D;ksafd  
 

(1) ;g izkÑfrd xHkZfujks/kd dk dk;Z djrh gS 

(2) blls Lru dSalj dh lEHkkouk de gksrh gS 

(3) xHkkZ'k; viuh iwokZoLFkk esa lgh <ax ls vk 
tkrk gS 

(4) mijksDr lHkh 

 

78. Breast feeding is beneficial for infants, 
because 

(1) It acts as a contraceptive 

(2) It reduces the chance of breast cancer 

(3) It gives condition to uterus, attain 
original position 

(4) All of the above 

79. ,d e/;e fØ;k'khy efgyk dks izfrfnu 
dSyksjh dh vko';drk gksrh gS 

(1) 2225 fdyks dSyksjh 

(2) 1800 fdyks dSyksjh 

(3) 3000 fdyks dSyksjh 

(4) 2800 fdyks dSyksjh 

 
79. In a day the calorie requirement for a 

moderate female worker is 

(1) 2225 kcal 

(2) 1800 kcal 

(3) 3000 kcal 

(4) 2800 kcal  

80. U;wu olk ;qDr vkgkj fn;k tkrk gS  

(1) eksVkis esa 

(2) fiÙkk'k; jksx esa 

(3) ;Ñr jksx esa  

(4) mijksDr lHkh fLFkfr;ksa esa 

 

80. Low-fat diet is given in case of   

(1) Obesity 

(2) Gall bladder disease 

(3) Liver disease 

(4) All of the above 

81. isfIlu gS] ,d 

(1) foVkfeu 

 

81. Pepsin is a 

(1) Vitamin 
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(2) gkWeksZu 

(3) ,Utkbe 

(4) iks"kd rRo 

(2) Hormone 

(3) Enzyme 

(4) Nutrients 

82. dksysLVªky mifLFkr gS 

(1) ekal esa 

(2) nw/k esa 

(3) v.Mk esa 

(4) mijksDr lHkh esa 

 

82. Cholestrol is present in 

(1) Meat 

(2) Milk 

(3) Egg 

(4) All of the above  

83. ,d Lruiku ¼0-6 ekg½ djkus okyh efgyk dks 
izfrfnu vfrfjDr izksVhu dh vko';drk gS 

(1) + 25 xzke 

(2) + 45 xzke 

(3) + 18 xzke 

(4) + 50 xzke 

 

83. During lactation (0-6months) daily additional 
protein requirement for a woman is 

(1) +25 g 

(2) + 45 g 

(3) + 18 g 

(4) + 50 g 

84. efgykvksa esa lkekU;r% Hkkj esa fdruh o`f) 
eksVkik dgykrh gS 

(1) 30% 

(2) 10% 

(3) 20%  

(4) 40% 

 84. In females generally how much weight 
gain comes under obesity  

(1) 30% 

(2) 10% 

(3) 20%  

(4) 40% 

85. jksxh ds fy, vkgkj vk;ksftr djrs le; 
fuEu esa ls fdl ij /;ku fn;k tkrk Fkk 

(1) jksxh dh Hkkstu lEcU/kh vknrsa 

(2) jksx dk dkj.k 

(3) vkgkj dh izÑfr 

(4) mijksDr lHkh 

 

85. While meal planning for patient which of the 
following point is taken into consideration 

(1) Food habits of patient 

(2) To know the reason of disease 

(3) Nature of diet 

(4) All of the above 
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86. larqfyr vkgkj dks izHkkfor djrk gS 

(1) fØ;k'khyrk 

(2) LokLF; fLFkfr 

(3) fo'ks"k 'kkjhfjd voLFkk 

(4) mijksDr lHkh 

 

86. Balanced diet is affected by 

(1) Activity 

(2) Health condition 

(3) Special physical condition 

(4) All of the above 

87. vkgkj fpfdRlk esa ;ksxnku gksrk gS 

(1) dsoy vkgkj fpfdRld dk 

(2) dsoy MkWDVj dk 

(3) dsoy ulZ dk 

(4) mijksDr lHkh dk 

 

87. In diet therapy there is co-operation of 

(1) Only dietitian 

(2) Only doctor 

(3) Only nurse 

(4) All of the above 

88. Hkkjr esa ògn~ izfrdkfjrk dk;ZØe dc vkjEHk 
gqvk 

(1) 1965 

(2) 1978 

(3) 1987 

(4) 1968 

 

88. When expanded programme of immunization 
is started in India 

(1) 1965 

(2) 1978 

(3) 1987 

(4) 1968 

89. Lruiku ¼0-6 ekg½ ds nkSjku izfrfnu 
vfrfjDr dSyksjh dh ,d efgyk dks 
vko';drk gksrh gS  

(1) + 300 dSyksjh 

(2) + 200 dSyksjh  

(3) + 550 dSyksjh 

(4) + 400 dSyksjh 

 89. During lactation (0-6 months) daily 
addional calorie requirement for a 
woman is  

(1) + 300 Kcal 

(2) + 200 Kcal 

(3) + 550 Kcal 

(4) + 400 Kcal 

90. vkgkj fu;kstu dks izHkkfor djrk gS  

(1) Hkkstu lEcU/kh vknrsa 

(2) fØ;k'khyrk 

 
90. Meal planning is affected by  

(1) Food habits 

(2) Activity 
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(3) tyok;q 

(4) mijksDr lHkh 

(3) Weather 

(4) All of the above 

91. yEch vof/k ds cq[kkj esa ÅtkZ dh vko';drk 
gksrh gS  

(1) 50%-100% 

(2) 5%-10% 

(3) 15%-20% 

(4) buesa ls dksbZ ugha 

 
91. In long term fever energy needed is 

  

(1) 50%-100% 

(2) 5%-10% 

(3) 15%-20% 

(4) None of these 

92. yEch vof/k ds cq[kkj esa izksVhu dh 
vko';drk gksrh gS 

(1) 10-20 xzke 

(2) 2-4 xzke 

(3) 5 xzke 

(4) buesa ls dksbZ ugha 

 

92. In long term fever protein needed is 
 

(1) 10-20 g 

(2) 2-4 g 

(3) 5 g  

(4) None of these 

93. cq[kkj esa oftZr HkksT; inkFkZ gS 

(1) js'ksnkj HkksT; inkFkZ] pk;] vkpkj  

(2) v.Mk] ekal] eNyh 

(3) Qy] 'kdZjk] nw/k 

(4) buesa ls dksbZ ugha 

 
93. Food avoided during fever is 

(1) Fibrous food, tea, pickle 

(2) Egg, meat, fish 

(3) Fruit, sugar, milk 

(4) None of these 

94. vfrlkj dh fLFkfr esa vkgkj ugha gksuk pkfg, 

(1) dM+d pk; 

(2) lkcqr vukt  

(3) js'ksnkj Qy] lfCt;k¡ 

(4) mi;qZDr lHkh 

 94. The diet of diarrhoea condition should 
not contain 

(1) Strong tea 

(2) Whole cereal 

(3) Fibrous fruit and vegetables 

(4) All of the above 

95. fuEu esa ls fdl iznw"k.k ds dkj.k dkcZfud o 
vdkcZfud rRoksa dh ek=k vlUrqfyr gksrh gS 

 

95. Which one of the following pollution is 
responsible for imbalance of organic and 
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(1) ty 

(2) /ofu 

(3) ok;q 

(4) Hkwfe 

inorganic substance 

(1) Water 

(2) Noise  

(3) Air 

(4) Soil 

96. ,d izfrHkk'kkyh Nk= d{kk esa leL;k,¡ 
mRiUu djrk gS] rks lEHkkfor dkj.k gS  

(1) d{kk ds okrkoj.k esa 

(2) f'k{k.k esa 

(3)  ckyd ds ifjokj esa 

(4) nksLrh esa 

 
96. When a gifted child creates the problems in 

the classroom, the probable reason for this is 

(1) Environment of classroom 

(2) In education 

(3)  In the family of child 

(4)  In friendship 

97. Hkkjrh; ekud laLFkk LFkkfir dh x;h gS 
 

(1) 1947 

(2) 1950 

(3)  1960 

(4) 1974 

 
97. Indian standard Institution (ISI) was 

established in 

(1) 1947 

(2) 1950 

(3)  1960 

(4) 1974 

98. ^,xekdZ* D;k gS   

(1) ;g v.Ms ds fy, izrhd fpUg gS 

(2) ;g Js.khÑr Ñf"k O;;ksa gsrq tkjh dh ,d 
foi.ku lhy gksrk gS 

(3) ,d Ñf"k izcU/ku ,oa fofue; dk 
izfrfuf/kRo djrk gS 

(4) bldk vFkZ Ñf"k foi.ku ls gS 

 
   98. What is 'AGMARK' 

(1) It is symbol of egg  

(2) It is marketing seal issued on the 
graded agricultural commodities 

(3) It represents agricultural management 
and regulation 

(4) It standard for agricultural marketing 

99. fMCck cUn oLrq fu;e ykxw gqvk] o"kZ 

(1) 1975 

(2) 1980 

(3) 1965 

 99. Caned food law started in the year of  

(1) 1975 

(2) 1980 

(3) 1965 
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(4) 1970 (4) 1970  

100. nw/k esa feyk;k tkrk gS  

(1) MsDlVªhu ikmMj 

(2) ?kqyu'khy LVkpZ 

(3) ty 

(4) mijksDr lHkh 

 

100. Adulteration in milk are  

(1) Dextrine powder 

(2) Soluble starch 

(3) Water 

(4) All of the above 

101. Hkkstu esa tkucw>dj feyk;k tkus okyk 
inkFkZ gS 

(1) LVkpZ] ty] gkfudkjd jax 

(2) thok.kq o QWxl 

(3) dhVuk'kd] ykokZ 

(4) mijksDr lHkh  

 

101. Intentional adulterants in food are 
 

(1) Starch, water, harmful colour 

(2) Bacteria and fungus 

(3) Pesticides and larva  

(4) All of the above  

102. 'kgn esa feykoV dh tkrh gS  

(1) buoVZ 'kqxj ls 

(2) xqM+ ls 

(3) Ñf=e LohVuj ls 

(4) mijksDr lHkh 

 

102. Adulteration in honey is done by 

(1) Invert Sugar 

(2) Jaggery 

(3) Artificial Sacchrine 

(4) All of the above  

103. lu~ 1990 rd ^lcds fy, lqjf{kr ikuh* dk 
ukjk fn;k x;k Fkk 

(1) MCyw0 ,p0 vks0 }kjk 

(2) vkbZ0 lh0 ,e0 vkj0 }kjk 

(3) ;w0 ,u0 vks0 }kjk 

(4) lh0 ,l0 vkbZ0 vkj0 }kjk 

 

103. The slogan 'Safe drinking water' for all upto 
1990 was given by 

(1) W. H. O. 

(2) I. C. M. R. 

(3) U. N. O. 

(4) C. S. I. R.  

104. ihus ds ikuh esa vklsZfud lanw"k.k ,d leL;k 
gS 

 104. Arsenic contamination in drinking water is 
the major problem in 
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(1) mÙkj izns'k esa 

(2) e/; izns'k esa 

(3) ubZ fnYyh esa 

(4) if'peh caxky esa 

(1) Uttar Pradesh 

(2) Madhya Pradesh  

(3) New Delhi 

(4) West Bengal 

105. nw/k esa LVkpZ ds feykoV dk ijh{k.k gksrk gS 

(1) vk;ksfMu ds foy;u ds }kjk 

(2) iksVSf'k;e ijeSxusV ds }kjk 

(3) ysDVksehVj }kjk  

(4) mi;qZDr esa ls dksbZ ugha 

 
105. Adulteration of starch in milk is tested by 

(1) Iodine solution 

(2) Potassium permaganate 

(3) Lactometer 

(4) None of the above 

106. gYnh ds esVsfuy ;syks ds feykoV ds ijh{k.k 
ds fy, ,Ydksgy dks feyk;k tkrk gS 

(1) gkbMªksDyksfjd vEy ds lkFk  

(2) ty ds lkFk 

(3) lY¶;wfjd vEy ds lkFk 

(4) ukbfVªd vEy ds lkFk 

 

106. Metanil yellow adulteration in turmeric is 
tested by the addition of alcohol with 

(1) Hydrochloric acid 

(2) Water 

(3) Sulphuric acid 

(4) Nitric acid  

107. ekuoh; ikpu rU= esa ,isfUMDl dk mi;ksx 
gS 

(1) ikpu fØ;k esa rkieku cuk, j[kuk 

(2) ikpu fØ;k esa lgk;rk iznku djuk 

(3) ikpd jl dk òko djuk 

(4) ikpu fØ;k esa dksbZ ;ksxnku ugha 

 
107. The role of appendix in human digestive 

system is 

(1) To regulate the temperature during 
digestion 

(2) to help in digestion 

(3) To secrete digestive juice 

(4) No role in digestive system 

108. fdl rsy ds feykoV ls MªkIlh gks tkrk gS 

(1) lwjteq[kh dk rsy 

(2) vkxhZeksu dk rsy 

(3) ukfj;y dk rsy 

 
108. Dropsy is caused by the adulteration of 

which oil 

(1) Sunflower oil 

(2) Argemone oil 

(3) Coconut oil 
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(4) ewaxQyh dk rsy (4) Groundnut oil 

109. vkbZ0 lh0 ,e0 vkj0 ds vuqlkj ,d fd'kksjh 
¼16-18 o"kZ½ dks izfrfnu dSyksjh dh 
vko';drk gksrh gS  

(1) 2200 fdyks dSyksjh 

(2) 2060 fdyks dSyksjh 

(3) 2400 fdyks dSyksjh 

(4) 2640 fdyks dSyksjh 

 109. In a day according to ICMR, the calorie 
requirement for an adolescent girl (16-18 
years) is 

(1) 2200 kcal 

(2) 2060 kcal 

(3) 2400 kcal 

(4) 2640 kcal 

110. 

 

vf/kd izksVhu ;qDr vkgkj fn;k tkrk gS 

(1) cq[kkj esa 

(2) risfnd esa 

(3) Dokf'k;ksjdj esa 

(4) mijksDr lHkh esa 

 

110.

 

Protein rich food is given in 

(1) Fever 

(2) Tuberculosis 

(3) Kwashiorkor 

(4) All of the above 

111. vkbZ0 lh0 ,e0 vkj0 ds vuqlkj ,d o`) dks 
izfrfnu izksVhu dh vko';drk gksrh gS 

(1) 70 xzke 

(2) 55 xzke 

(3) 45 xzke 

(4) 60 xzke 

 

111. In old age (male) according to ICMR daily 
protein requirement is 

(1) 70 g 

(2) 55 g 

(3) 45 g 

(4) 60 g 

112. vesfjdk ds us'kuy fjlpZ dkmfUly us 
vkgkjh; HkksT; lewg dks ckaVk gS] oxksZa esa 

(1) 6 

(2) 4 

 

112. American National Research Council has 
categorised the basic food groups into 

(1) 6 

(2) 4 
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(3) 7 

(4) 5 

(3) 7 

(4) 5 

113. miHkksDrk laj{k.k vf/kfu;e ykxw gqvk] o"kZ 
 

(1) 1982 esa 

(2) 1986 esa 

(3) 1997 esa 

(4) 1968 esa 

 113. Consumer Protection Act started in the 
year of  

(1) 1982 

(2) 1986 

(3) 1997 

(4) 1968 

114. vko';d oLrq fu;U=.k vf/kfu;e gS 

(1) vko';d oLrqvksa dh i;kZIr iwfrZ O;oLFkk 

(2) vko';d oLrqvksa ij ,dkf/kdkj 

(3) vko';d oLrqvksa dk Js.khdj.k 

(4) buesa ls dksbZ ugha 

 

114. Essential commodity control Act is 

(1) Adequate supply of essential commodities 

(2) Monopoly on essential commodities 

(3) Grading of essential commodities 

(4) None of these 

115. ty dks 'kq) djus dk lcls lLrk mik; gS 

(1) mckyuk 

(2) Dyksjhu VScysV dks feykuk 

(3) mi;qZDr nksuksa (1) o (2) 

(4) buesa ls dksbZ ugha 

 

115. One of the cheapest method to purify water is 

(1) Boiling 

(2) Add chlorine tablets 

(3) Both (1) and (2) 

(4) None of these  

116. gYnh dk nkx lkQ fd;k tkrk gS] ;fn 
iz;ksx esa yk;k tk; 

(1) gkbMªkstu isjkWDlkbM 

(2) veksfu;k 

(3) nksuksa (1) o (2) 

(4) vEy 

 

116. Turmeric stain is washed by the use of 
 

(1) Hydrogenperoxide 

(2) Ammonia 

(3) Both (1) and (2) 

(4) Acid  

117. lcls vf/kd izpfyr ^thou chek* gS 

 

117. The most common 'LIfe Insurance' is 
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(1) cUnkscLrh chek 

(2) la;qDr chek 

(3) fpfdRlk chek 

(4) nq?kZVuk chek 

(1) Endowment Insurance 

(2) Joint Insurance 

(3) Medical Insurance 

(4) Accident Insurance  

118. lkekU; Hkfo"; fuf/k gS 

(1) dsoy ljdkjh deZpkfj;ksa gsrq  

(2) dsoy v)Z-ljdkjh deZpkfj;ksa gsrq 

(3) dsoy futh {ks= ds deZpkfj;ksa gsrq 

(4) ljdkjh o futh nksuksa {ks= ds deZpkfj;ksa gsrq 

 118. General Provident Fund is 

(1) Only for Government servants 

(2) Only for Semi-Government servants 

(3) Only for private servants 

(4) For government and Private servants both 

119. O;fDrxr Hkfo"; fuf/k gS 

(1) dsoy ljdkjh deZpkfj;ksa gsrq 

(2) dsoy v)Z-ljdkjh deZpkfj;ksa gsrq 

(3) dsoy futh {ks= ds deZpkfj;ksa gsrq 

(4)  lHkh ds fy, 

 
119. Personal Provident Fund is  

(1) Only for Government servants 

(2) Only for semi Government servants 

(3) Only for private servants 

(4)  For all person 

120. fuEu esa ls dkSu lqjf{kr psd gS 

(1) vkns'k psd 

(2) ,dkmUV is;h psd 

(3) fof'k"V js[kkadu psd 

(4) (2) ,oa (3) nksuksa 

 
120. Which one of the following cheque is safe 

(1) Order cheque 

(2) Account payee cheque 

(3) Special crossing cheque 

(4) Both (2) and (C) 

121. ekufld vk; ls rkRi;Z gS 

(1)  O;fDr dks mldh ekufld vk; ls izkIr 
larks"k ls 

(2) ,d ifjokj dks izkIr gksus okyh dqy eqnzk 

(3) mu oLrqvksa o lsokvksa dks lfEefyr fd;k 
tkrk gS tks ikfjokfjd lnL;ksa dks fcuk 
/ku ds mi;ksx ls izkIr gksrk gS 

(4) mijksDr lHkh 

 
121. Psychic Income mean when 

(1) It consists of the satisfaction which 
person derives from their real income 

(2) Total money earned by a family 

(3) It consists of those material goods and 
services available in the family 
members without the use of money 

(4) All of the above 
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122. lgh mÙkj dk pquko dhft, 

(1) pkyw [kkrs ij cSad izk;% 5% C;kt nsrk gS 

(2) pkyw [kkrs ij cSad izk;% 10% C;kt nsrk gS 

(3) pkyw [kkrs ij izk;% cSad C;kt ugha nsrk gS 

(4) buesa ls dksbZ ugha 

 
122. Choose the correct answer 

(1) Bank often gives 5% interest on current 
account 

(2) Bank often gives 10% interest on 
current account 

(3) Bank often does not give interest on 
current account 

(4) None of these 

123. vk; dks izHkkfor djus okys rÙo gSa 

(1) cPpksa dh la[;k] fuokl LFkku] x`g.kh dh 
;ksX;rk 

(2) ?kj dh dqy vk;]ifjokj dk Lo:i] 
ifjokj dk vko';d O;; 

(3) ifjokj dk Lo:i] lnL;ksa dh la[;k] 
O;fDr dk is'kk] x`g.kh dh dq'kyrk 

(4) buesa ls dksbZ ugha 

 123. Factors which affect the income is  

(1) Number of children, living place, ability 
of housewife 

(2) Total income, structure and necessary 
expenditure of the family 

(3) Family structure, number of members in 
family, individual profession and quality of 
housewife 

(4) None of these 

124. ctV ;kstuk fuHkZj djrh gS  

(1) ifjokj ds y{; ij 

(2) ifjokj dh vk; ij 

(3) ifjokj dh vko';drkvksa ij 

(4) mi;qZDr lHkh ij 

 
124. Budget planning depends on  

(1) Goal of family 

(2) Income of family 

(3) Needs of family 

(4) All of the above 

125. okLrfod vk; gS 

(1) x`g okfVdk ls izkIr Qy o lfCt;k¡ 

(2) fu%'kqYd f'k{kk 

(3) ifjokj ds lnL;ksa }kjk izkIr lsok,¡ 

(4) mi;qZDr lHkh 

 
125. Real income is 

(1) Fruits and vegetables obtained from 
kitchen garden 

(2) Free education 

(3) Service given by family members 

(4) All of the above 

126. HkkSfrd lk/ku gS 

(1) lkeqnkf;d lqfo/kk,¡ 

 

126. Non- human resource is 

(1) Community facility 
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(2) HkkSfrd oLrq,¡ 

(3) /ku 

(4) mi;qZDr lHkh 

(2) Material goods 

(3) Money 

(4) All of the above 

127. cpr egRoiw.kZ gS 

(1) nh?kZdkyhu vko';drk dh iwfrZ gsrq 

(2) vuko';d [kpksZa esa deh ds fy, 

(3) jk"Vª fodkl gsrq 

(4) mi;qZDr lHkh ds fy, 

 

127. Saving is important for 

(1) Fullfilment of long term needs 

(2) Minimizing the unwanted expenditure 

(3) The development of nation 

(4) All of the above 

128. ;wfuV~l [kjhns tk ldrs gSa 

(1) ;wfuV VªLV ds izfrfuf/k }kjk 

(2) vf/kÑr cSad }kjk 

(3) Mkd?kj }kjk 

(4) mijksDr ds lHkh }kjk 

 128. Units are purchased by 

(1) Agents of unit trust 

(2) Authorized Bank 

(3) Post Office 

(4) All of the above 

129. chek esa iz;qDr ^izhfe;e* ls rkRi;Z gS 

(1) chek /kkjd }kjk chek fuxe dh /kujkf'k 
nsus dh izfrKk djuk 

(2) chek fuxe }kjk gLrk{kj fd, cU/k i= 

(3) ikWfylh dk uohuhdj.k 

(4) ,d ikWfylh dks nwljh ikWfylh esa cnyuk 

 
129. The concept of 'Premium' in insurance is 

(1) Promise by policy bearer for giving 
money to Insurance corporation   

(2) signed bond-paper by Insurance 
corporation 

(3) Renewal of policy  

(4) Policy exchange to another policy 

130. fdl chek ;kstuk esa jde cheknkj ds e`R;q 
ds ckn izkIr gksrh gS 

(1) cUnkscLrh chek ;kstuk 

(2) nksgjh cUnkscLrh ;kstuk 

(3) vkthou chek ;kstuk 

(4) f'k{kk okf"kZdh ;kstuk 

 

130. In which Insurance policy money is given 
after the death of policy bearer 

(1) Endowment Assurance Policy 

(2) Double Endowment Policy 

(3) Whole Life Assurance Policy 

(4) Education Annuity Policy 

131. fdl izdkj dh ;kstuk esa mÙkjkf/kdkjh dk 
 

131. In which plan the name of inheritor is 
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ukekadu gks ldrk gS 

(1) Mkd?kj cpr ;kstuk 

(2) iqufoZfu;ksftr ;kstuk 

(3) la;qDr thou ;kstuk 

(4) ;wfuV ;qDr chek ;kstuk 

nominated  

(1) Post office saving scheme 

(2) Reinvestment plan 

(3) Joint life assurance 

(4) Unit linked insurance policy 

132. fuEu esa ls fdl psd dk udn Hkqxrku ugha 
fd;k tkrk 

(1) vkns'k psd 

(2) js[kkafdr psd 

(3) okgd psd  

(4) mijksDr lHkh dk 

 
132. Which one of the following cheque is not 

payable in cash form  

(1) Order cheque 

(2) Cross cheque 

(3) Bearer cheque  

(4) All of the above 

133. ;wfuV ;qDr chek ;kstuk ds lanHkZ esa D;k 
lgh gS 

(1) ukekadu lqfo/kk gksrh gS 

(2) fL=;k¡ Hkkx ugha ys ldrh  

(3) MkWDVjh ijh{k.k dh vko';drk ugha gksrh  

(4) Øsrk dh U;wure vk;q 25 o"kZ gksuh pkfg, 

 133. What is true about Unit Linked Insurance 
plan  

(1) Nomination facilities is available 

(2) Women cannot participate 

(3) Medical check up is not necessary 

(4) The minimum age of purchaser is 25 
years 

134. vekuoh; lk/ku gS 

(1) Kku 

(2) :fp;k¡ 

(3) lekt }kjk feyh LokLF; lqfo/kk,¡ 

(4) /ku 

 

134. Non Human resource is 

(1) Knowledge 

(2) Interest 

(3) Health facility given by society 

(4) Money 

135. ikfjokfjd vk; gS  

(1) edku dk fdjk;k 

(2) fu%'kqYd f'k{kk 

(3) ifjokj ds lnL;ksa }kjk fd;k x;k dk;Z 

 

135. Family income is 

(1) Rent of house 

(2) Free education 

(3) Work done by family members 
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(4) mijksDr lHkh (4) All of the above 

136. tks oLrq,¡ vkSj lsok,¡ ifjokj ds lnL;ksa dks 
fcuk /ku ds mi;ksx ls izkIr gksrh gS] 
dgykrh gS  

(1) vizR;{k vk; 

(2) okLrfod vk; 

(3) ekSfnzd vk; 

(4) ekufld vk; 

 
136. Income consist of those material goods 

and services available in the family members 
without the use of money in known as : 

(1) Indirect Income 

(2) Real Income 

(3) Money Income 

(4) Psychic Income 

137. lkeqnkf;d fodkl dk ewy rÙo gS 

(1) vkenuh c<+kuk 

(2) usr`Ro dk fodkl 

(3) fØ;kdyki leqnk; ds cqfu;knh 
vko';drk ds vuq:i gksa 

(4) mi;qZDr esa ls dksbZ ugha 

 
137. Essential elements of community 

development is 

(1) Increasing the income 

(2) Development of leadership 

(3) Activity should be according to basic 
needs of community 

(4) None of these 

138. izkFkfed jaxksa dk lsV gS 

(1) yky] uhyk] ihyk 

(2) gjk] yky] uhyk 

(3) caSxuh] ihyk] gjk 

(4) dkyk] ukjaxh] uhyk 

 138. Set of primary colours is 

(1) Red, Blue, Yellow 

(2) Green, Red, Blue 

(3) Purple, Yellow, Green 

(4) Black, Orange, Blue 

139. fuEu esa ls dkSu lsV xeZ jaxksa dk gS   
 

(1) yky] gjk 

(2) ihyk] yky 

(3) uhyk] gjk 

(4) dkyk] lQsn 

 
139. Which one of the following set is of warm 

colours 

(1) Red, Green 

(2) Yellow, Red 

(3) Blue, Green 

(4) Black, White 

140. ^jax {ks= dh fof/k* ds vuqlkj xgjs jaxksa dk 
iz;ksx gYds jaxksa dh vis{kk gksuk pkfg, 

 

140. According to 'Law of colour area' 
application of dark colour with repsect to 
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(1) cjkcj vuqikr esa 

(2) de vuqikr esa 

(3) vf/kd vuqikr esa 

(4) buesa ls dksbZ ugha 

light colour should be 

(1) In equal ratio 

(2) in less ratio  

(3) In more ratio 

(4) None of these 

141. vf/kdka'k yksx diM+s ds pquko esa fuEu esa ls 
fdl xq.k dks ns[krs gSa 

(1) 'kq)rk 

(2) ckg~; vkÑfr 

(3) cukoV  

(4) vkjkenk;d 

 
141. Generally people look for which one of 

the following quality while choosing 
clothes 

(1) Purity 

(2) Appearance 

(3) Texture 

(4) Comfortable 

142. ctV lQy gksrk gS 

(1) vk; o O;; ds lgh larqyu ls 

(2) cpr djds 

(3) O;; de djds 

(4) vk; c<+kdj 

 
142. A successful budget is due to 

(1) Balance between income and 
expenditure 

(2) Increase in savings 

(3) Low expenditure 

(4) Increase in income 

143. /khek fodkl djus okys cPpksa dh igpku gS 

(1) lkekftd O;ogkj esa nsjh 

(2) cksyus esa nsjh 

(3) xfr o dq'kyrk esa nsjh 

(4) HkkoukRed O;ogkj esa nsjh 

 143. Identification of slowly developing children 
is 

(1) Delay in social behaviour 

(2) Delay in speaking 

(3) Delay in motor and skill development 

(4) Delay in emotional behaviour 

144. cPps esa ikSf"Vdrk dh deh gS rks mlds ^lj 
dh ifjf/k* gksrh gS 

(1) Nkrh ls cM+h 

(2) Nkrh ls NksVh 

(3) Nkrh ds cjkcj 

 

144. In a child suffering from malnutrition, the 
head circumference is 

(1) More than chest 

(2) Less than chest 

(3) Equal to the chest 
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(4) Nkrh ls dksbZ lEcU/k ugha (4) Not related with the chest 

145. nks o"kZ ls de f'k'kqvksa dk otu ukius dk 
;U= gS 

(1) yhoj cSysUl 

(2) fLizax cSysUl 

(3) che cSysUl 

(4) ekrk dh Hkqtk esa 

 

145. The best equipment to measure the 
weight of a child less than two years is 

(1) Liver Balance 

(2) Spring Balance 

(3) Beam Balance 

(4) In mother's arms 

146. ejkLel chekjh ik;h tkrh gS 

(1) ik¡p o"kZ ls de ds cPpksa esa 

(2) nks o"kZ ls de ds cPpksa esa 

(3) N% ekl ls de ds cPpksa esa 

(4) ,d o"kZ ls de ds cPpksa esa 

 

146. 'Marasmus' disease is found in children 
who are 

(1) Less than five years 

(2) Less than two years 

(3) Less than six months 

(4) Less than one years 

147. ^yEch xnZu* okyh fL=;ksa ds Cykmt dk xyk 
gksuk pkfg,  

(1) pkSdksj xys dk 

(2) NksVs xys dk 

(3) frdksus xys dk 

(4) cM+s xys dk 

 

147. The neck size of blouse of women who 
have 'long neck' should be, of 

(1) Square shaped neck size 

(2) Short neck size 

(3) Triangle shaped neck size 

(4) Long neck size 

148. ifj/kku dks 'kkjhfjd vkÑfr o vuq:irk ds 
vuqlkj cukus gsrq fdl ckr dk /;ku j[kuk 
pkfg,  

(1) 'kkjhfjd vuqikr dk 

(2) 'kkjhfjd vlekurk dk 

(3) ifj/kku fuekZ.k dh js[kk dk 

(4) mijksDr lHkh dk 

 
148. Which factor should be considered while 

making clothes suitable to physical 
shape and proportion 

(1) Physical proportion 

(2) Physical imbalance 

(3) Line of clothing construction 

(4) All of the above 

www.s
at

ish
le

ct
ur

er
.c

om



  

Part-II/D/50 ( 37 ) P. T. O. 

149. eksVs isV okys O;fDr ds oL= fuekZ.k esa fuEu 
esa ls dkSu lk fcUnq egÙoiw.kZ gS  
 

(1) oL= esa lkeus ds dU/kksa dh yEckbZ vf/kd 
gks 

(2) oL= esa ihNs ds dU/kksa dh yEckbZ de gks 

(3) oL= esa lkeus ds dU/kksa dh yEckbZ de gks 

(4) mi;qZDr (1) o (2) nksuksa 

 

149. Which one of the following point is 
important in clothing construction for 
figure with prominent abdomen 

(1) The length of the shoulder in front 
should be more in clothing 

(2) The length of the shoulder on back 
should be less in clothing 

(3) The length of the shoulder in front 
should be less in clothing 

(4) Both (1) and (2) 

150. oL= esa ^{kSfrt ;k vkM+h js[kkvksa* dk iz;ksx 

(1) O;fDr dh yEckbZ de fn[kkrh gS 

(2) O;fDr dh eksVkbZ vf/kd fn[kkrh gS 

(3) nksuksa (1) o (2) 

(4) buesa ls dksbZ ugha 

 

150. Use of 'horizontal lines' in clothing shows 

(1) Less length of the person 

(2) More fat of the person 

(3) Both (1) and (2) 

(4) None of these 

151. eksVh efgyk ds ifj/kku esa gksuk pkfg, 
 

(1) cM+s Nkis o oÙ̀kkdkj uewus 

(2) pkSM+h /kkfj;k¡ o pkSM+s IysM 

(3) NksVs Nkis o yEcc) js[kk,¡ 

(4) vkM+h o HkXu js[kk,¡ 

 

151. In the clothes of a stout-woman there 
should be 

(1) Large print and circular design 

(2) Large strip and large plaids 

(3) Small print and transverse lines 

(4) Horizontal and broken lines 

152. pk; dk nkx lkQ fd;k tkrk gS ;fn iz;ksx esa 
yk;k tk; 

(1) xje ty 

(2) cksjsDl 

(3) gkbMªkstu ijksDlkbM  

 152. Tea stain is washed by the use of 
 

(1) Warm water 

(2) Borex 

(3) Hydrogen peroxide 
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(4) mi;qZDr lHkh (4) All of the above 

153. xzhl dk nkx lkQ fd;k tkrk gS ;fn iz;ksx esa 
yk;k tk; 

(1) isVªksy 

(2) xje ty o lkcqu  

(3) CykWfVax isij] pkWd 

(4) mijksDr lHkh 

 

153. Grease stain is washed by the use of 
 

(1) Petrol 

(2) Warm water and soap 

(3) Bloting paper and chalk 

(4) All of the above 

154. dkSu-lk Vhdk f'k'kq dks rhu jksxksa ls cpkrk 
gS 

(1) Mh0 ih0 Vh0 

(2) ch0 lh0 th0 

(3) ,0 Vh0 ,l0 

(4) Vh0 ,0 ch0 

 

154. Which one of the following vaccine 
immunizes an infant against three diseases 

(1) D. P. T. 

(2) B. C. G. 

(3) A. T. S. 

(4) T. A. B. 

155. vkSipkfjd Hkkstu d{k dh est esa iz;ksx gksrk 
gS 

(1) Vsfcy eSV~l 

(2) uSidhu 

(3) estiks'k 

(4) mijksDr lHkh 

 

155. In formal type of dining table setting one 
should use 

(1) Table mates 

(2) Napkin 

(3) Table cover 

(4) All of the above 

156. tUe ds fdrus le; ckn cPps dk otu 
nksxquk gks tkrk gS 

(1) 6 ekg esa 

 156. After how much time from birth, the 
weight of the child becomes two times 

(1) In 6 months 
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(2) 9 ekg esa 

(3) 1 o"kZ esa 

(4) 3 ekg esa 

(2) In 9 months 

(3) In 1 year 

(4) In 3 months 

157. iwoZ ckY;koLFkk esa cPpksa dh Hkk"kk gksrh gS 
 

(1) fof'k"V 

(2) LodsfUnzr 

(3) lekt dsfUnzr 

(4) mijksDr lHkh 

 

157. The language of children in early 
childhood is 

(1) Specific 

(2) Self centric speech  

(3) Socialized speech 

(4) All of the above 

158. cPpksa esa Lo;a Hkkstu djus dk dkS'ky fdl 
voLFkk ls gksrk gS  

(1) 1-2 o"kZ  

(2) 4-5 o"kZ 

(3) 3-4 o"kZ 

(4) 5-6 o"kZ 

 

158. In which stage self feeding skill's is 
developed in children 

(1) 1-2 years 

(2) 4-5 years 

(3) 3-4 years 

(4) 5-6 years 

159. cPpksa esa fcLrj xhyk djus dh leL;k dk 
dkj.k gS 

(1) eUn cqf) 

(2) nh?kZdkyhu chekfj;k¡ 

(3) 'kkjhfjd detksjh 

(4) mijksDr lHkh 

 

159. The reason of bedwetting problem in 
children is 

(1) Mental retardation 

(2) Chronic diseases 

(3) Physical weakness 

(4) All of the above 

160. cPpksa eas leqfpr fodkl gsrq ekrk dks mUgsa  160. For balanced development of children, 
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vyx ls le; nsuk pkfg, 

(1) izk;% 

(2) lnSo 

(3) dHkh-dHkh 

(4) vfuf'pr 

parents should give time separately 

(1) Often 

(2) Always 

(3) Some time 

(4) Not sure 

161. xEHkhj cky-vijkf/k;ksa ds mipkj gsrq dkSu lh 
i)fr viuk;h tkrh gS  

(1) euksfo'ys"k.k 

(2) lewg fpfdRlk 

(3) [ksy fpfdRlk 

(4) mijksDr esa ls dksbZ ugha 

 

161. Which method is best useful for 
prevention of serious juvenile delinquency 

(1) Psychoanalysis 

(2) Group therapy 

(3) Play therapy 

(4) None of the above 

162. ekrk-firk ds xq.k lUrku esa LFkkukUrfjr gksrs 
gSa 

(1) jDr }kjk  

(2) Øksekslkse }kjk 

(3) gkWeksZu }kjk 

(4) buesa ls dksbZ ugha  

 

162. The character of parents are inherited in 
children by 

(1) Blood  

(2) Chromosome 

(3) Hormone 

(4) None of these 

163. ^^ckY;koLFkk dh fo'ks"krk gS**  

(1) lewg izo`fÙk 

(2) ftKklk izo`fÙk 

(3) lek;kstu izo`fÙk 

 

163. Characteristic of childhood is  

(1) Gregariousness 

(2) Curious nature 

(3) Adjustable nature 
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(4) mijksDr lHkh (4) All of the above 

164. cky fodkl dk v/;;u gS] xHkkZoLFkk ls 
 

(1) fd'kksjkoLFkk rd 

(2) ckY;koLFkk rd 

(3) thou i;ZUr rd 

(4) 'kS'kokoLFkk rd 

 164. Child development study is concerned 
from the pregnancy to 

(1) Adolescent 

(2) Childhood 

(3) Life long 

(4) Infancy 

165. lesfdr cky fodkl lsok dk mn~ns'; gS 
 

(1) e`R;q jksx o dqiks"k.k de djuk 
 

(2) N% o"kZ rd ds cPpksa ds lokZaxh.k fodkl 
dh uhao j[kuk 

(3) xHkZorh fL=;ksa o ekrkvksa ds vkgkj o 
LokLF; esa lq/kkj ykuk 

(4) mi;qZDr lHkh 

 
165. Objective of integrated child development 

service is 

(1) To reduce down the death, disease and 
malnutrition 

(2) To provide the foundation for complete 
development of children of 6 years of age 

(3) To bring the changes in diet and health 
of pregnant women and mothers 

(4) All of the above 

166. ckydksa ds laosx dh fo'ks"krk gS   

(1) laosx {kf.kd gksrs gSa 

(2) laosxksa dh 'kfDr ifjofrZr gksrh jgrh gS 

(3) laosxksa dh rhozrk vf/kd gksrh gS 

(4) mijksDr lHkh 

 
166. Characteristic of children's emotion is 

(1) Emotions are transitory 

(2) Emotions change in strength 

(3) Emotions are intense 

(4) All of the above 

167. ^vaxwBk pwluk* cPpksa dk O;ogkj gS 

(1) vuq'kklu foghu 

(2) laosxkRed 

(3) euks'kkjhfjd 

(4) vijk/k 

 

167. 'Thumb sucking' behaviour of children is 

(1) Disciplineless 

(2) Emotional 

(3) Psychophysical 

(4) Crime 

168. 'kkjhfjd v;ksX;rk ls cPpksa esa mRiUu gksrk gS  
 

168. Physical disabilities in the children develops 
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(1) leL;k 

(2) bZ";kZ 

(3) udkjkRed lksp 

(4) mijksDr lHkh 

(1) Problem 

(2) Jealously 

(3) Negative thinking 

(4) All of the above 

169. czsy fof/k iz;ksx dh tkrh gS 

(1) detksj utj okys cPpksa gsrq 

(2) vU/ks cPpksa gsrq 

(3) nksuksa (1) ,oa (2) 

(4) buesa ls dksbZ ugha 

 169. Braille method is used for 

(1) Partially seeing children 

(2) Blind children 

(3) Both (1) & (2) 

(4) None of these 

170. detksj utj okys cPpksa gsrq mfpr f'k{kk dk 
{ks= gS 

(1) gLrdyk 

(2) laxhr 

(3) pfj= [ksy 

(4) mijksDr lHkh 

 

170. The proper education area for partially 
seeing children is 

(1) Craft 

(2) Music  

(3) Character play 

(4) All of the above 

171. cPpksa esa ok.kh nks"kksa dks nwj fd;k tk ldrk 
gS  

(1) 'kY; fpfdRlk }kjk 

(2) larqfyr vkgkj }kjk 

(3) cksyus dk mfpr vH;kl }kjk 

(4) mijksDr lHkh 

 

171. Defective speech can remove in children 
can be removed by 

(1) Surgical operation 

(2) Balanced diet 

(3) Proper practice of speaking 

(4) All of the above 

172. nw/k esa feykoV dh tkap fdl ;U= ls gksrh 

 

172. Adulteration of milk is detected by which 
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gS 

(1) cSjksehVj 

(2) ysDVkssehVj 

(3) ekbØksLdksi 

(4) FkekZehVj 

equipment 

(1) Barometre 

(2) Lactometre 

(3) Microscope 

(4) Thermometre 

173. fuEufyf[kr esa ls dkSu-lk jksx ^[kslkjh nky* 
ds dkj.k gksrk gS 

(1) fjdsV~l 

(2) ydok 

(3) iSysxzk 

(4) jDrvYirk 

 
173. Which one of the following disease is 

caused by the use of 'Khesari dal'  

(1) Rickets 

(2) Paralysis 

(3) Pallegro 

(4) Anaemia 

174. fuEufyf[kr esa ls fdl feykoV ds dkj.k 
vU/kkiu o  ân; lEcU/kh chekjh gks ldrh gS 

(1) vkxhZeksu rsy 

(2) jksMsekbu ch 

(3) esVSfuy ;yks 

(4) [kslkjh nky  

 

 174. Blindness and heart disease can be caused 
by which one of the following adulteration 

(1) Argemon oil 

(2) Rodemine B 

(3) Metanil Yellow 

(4) Khesari Dal 

175. vks0 vkj0 ,l0 ?kksy ds izfr yhVj ty esa 
ued] lksfM;e ckbZdkcksZusV o iksVSf'k;e 
DyksjkbM dh Øe'k% ek=k,¡ gksrh gSa 

(1) 3 : 2 :1 

(2) 3.5 : 2.5 : 1.5 

(3) 3 : 4 : 3 

(4) 4 : 3 :2 

 

175. The ratio of salt, sodium bicarbonate and 
pottasium chloride in per litre of O. R. S. 
solution is 

(1) 3 : 2 :1 

(2) 3.5 : 2.5 : 1.5 

(3) 3 : 4 : 3 

(4) 4 : 3 :2 
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176. ,Q0 ih0 vks0 ,d ekud fpUg gS] xq.koÙkk 
gsrq 

(1) 'kcZr 

(2) lfCt;k¡ 

(3) fo|qr midj.k 

(4) oL= 

 

176. F. P. O. is a standard symbol for quality 
of 

(1) Squash 

(2) Vegetables 

(3) Electric equipment 

(4) Clothes 

177. tUe ds le; ,d Hkkjrh; cPps dh Å¡pkbZ 
¼vkSlr½ gksrh gS 

(1) 70 lseh0 

(2) 50 lseh 

(3) 20 lseh 

(4) 40 lseh 

 
177. The average height of an Indian child at 

birth is 

(1) 70 cm 

(2) 50 cm 

(3) 20 cm 

(4) 40 cm 

178. tsosy ikuh dk mi;ksx gS 

(1) diM+s jaxus ds fy, 

(2) diM+s ds nkx NqM+kus ds fy, 

(3) diM+s dk jax iDdk djus ds fy, 

(4) diM+s ij ped ykus gsrq 

 

178. Use of Javelle water is  

(1) To dye clothes 

(2) For removing stain from the clothes 

(3) For the firmness of the clothes 

(4) For the brightness of the clothes 

179. oL=ksa ds pquko esa fuEufyf[kr esa fdldk 
/;ku nsuk pkfg,  
 

(1) oL= ds eagxsiu ij 

(2) oL= ds ped ij 

(3) oL= ds fVdkÅiu ij 

 

179. During the selection of fabrics which of 
the following point should be taken into 
consideration  

(1) Expensive clothes 

(2) Brightness of the clothes 

(3) Durability of clothes 
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(4) buesa ls dksbZ ugha (4) None of these 

180. vkbZ0 ,l0 vkbZ0 fpUg fdlh [kk| inkFkZ dk 
izrhd gS fd 

(1) [kk| inkFkZ laLFkku ds ekin.M ds 
vuqdwy gS 

(2) [kk| inkFkZ laLFkku ds ekin.M ds 
vuqdwy ugha gS 

(3) [kk| inkFkZ rktk gS 

(4) [kk| inkFkZ lLrk gS 

 

180. I S I mark of any food substance is a symbol 
of  

(1) Food substance is according to standard 
of Institute 

(2) Food substance is not according to 
standard of Institute 

(3) Food substance is fresh 

(4) Food substance is cheap 

181. Hkkstu esa feykoV ds dkj.k 'kjhj izHkkfor 
gksrk gS 

(1) jDrvYirk ls 

(2) fo"kkDrrk gks tkuk 

(3) fdMuh Qsy gks tkuk 

(4) mijksDr lHkh ls 

 
181. Due to food adulteration body is affected, 

from 

(1) Anaemia 

(2) Poisoning 

(3) Kidney failure 

(4) All of the above  

182. 1-2 o"kZ ds ckydksa dk 'kCn Hk.Mkj gksrk gS  

(1) 180 

(2) 100 

(3) 150 

(4) 250 

 

182. Word collection of children of 1-2 years is 

(1) 180 

(2) 100 

(3) 150 

(4) 250 

183. cPpksa dks xyr dk;Z ls cpkus gsrq fuEu esa ls 
fdl ckr dk /;ku j[kuk pkfg,  

(1) cPpksa ls mis{kkiw.kZ O;ogkj u gks 

(2) cPpksa dks fdlh Hkh dk;Z esa O;Lr j[kuk 

 

183. Which one of the following points should 
be taken into consideration while 
restricting the children for bad habits 

(1) Children should not be neglected  

(2) Children should be made busy in any of 
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pkfg, 

(3) cPpksa dks vuqfpr n.M u feys 

(4) mijksDr lHkh ckrksa dk 

the work 

(3) Children should not punished illogically 

(4) All of the above 

184. lh[kus esa vuqdj.k dh izòfÙk dk fodkl 
ckyd esa fdl mez ls vkjEHk gks tkrk gS  

(1) 4-6 ekg 

(2) 9-10 ekg 

(3) 1 o"kZ  

(4) 1 – 1
2
1  o"kZ 

 

184. Development of tendency of imitation in 
learning starts in which age group in children 

(1) 4-6 months 

(2) 9-10 months 

(3) 1 year 

(4) 1 – 1
2
1 years 

185. cky fodkl v/;;u gS 

(1) ckydksa ds fodkl ds fofHkUu igyqvksa dk 

(2) ckydksa ds O;ogkjksa dk 

(3) fodkl dks izHkkfor djus okys rÙoksa dk 

(4) mijksDr lHkh dk 

 185. Child development is the study of 

(1) Various aspects of child development 

(2) Behaviour of children 

(3) Various factors affecting child development 

(4) All of the above 

186. [kkyh le; dk mi;ksx fd;k tk ldrk gS 
 

(1) fp= laxzg djds 

(2) ckxokuh djds 

(3) flykbZ] d<+kbZ djds 

(4) mijksDr lHkh 

 

186. Leisure time can be used by doing 
activities like 

(1) Collection of picture 

(2) Gardening 

(3) Stitching and embroidery 

(4) All of the above 

187. larqfyr vkgkj izR;sd O;fDr ds fy, gksuk 
pkfg,  

 

187. Balanced diet should be for every person 
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(1) Lokn ds vuqlkj 

(2) vkfFkZd fLFkfr ds vuqlkj 

(3) vk;q] fyax o dk;kZuqlkj 

(4) ilan ds vuqlkj 

(1) According to taste 

(2) According to economic status 

(3) According to age, sex and activity 

(4) According to choice 

188. lEiwfrZ vk; dk lk/ku gS 

(1) foosdiw.kZ O;; 

(2) lCth mxkuk o vfrfjDr dk;Z 

(3) V~;w'ku o i'kqikyu 

(4) mijksDr lHkh  

 

188. Resources of supplementing income is 

(1) Prudicious expenditure 

(2) Kitchen gardening and overtime 

(3) Tution and animal husbandry 

(4) All of the above 

189. ?kjsyw fglkc-fdrkc j[krs le; fdl ckr dk 
/;ku j[kuk pkfg, 

(1) fglkc-fdrkc esa lknxh gks 

(2) fglkc-fdrkc esa yphykiu gks 

(3) fglkc-fdrkc lqfo/kktud gks 

(4) mijksDr lHkh 

 189. Which should be kept in mind while 
dealing with household account 

(1) Simplicity in accounts 

(2) Flexibility in accounts 

(3) Convenient accounts 

(4) All of the above 

190. fuEu esa ls fdl izdkj dk ys[kk Hkfo"; 
;kstuk gsrq lgk;d gS 

(1) nSfud ys[kk 

(2) ekfld ys[kk 

(3) okf"kZd ys[kk 

(4) lkIrkfgd ys[kk 

 

190. Which one of the following accounts is 
useful for future  

(1) Daily account 

(2) Monthly account 

(3) Yearly account 

(4) Weekly account 
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191. ifr-iRuh tc nksuksa vk; vftZr djrs gSa rks 
chek gks ldrh gS 

(1) vkthou chek 

(2) ?kj dk chek 

(3) la;qDr chek 

(4) cUnkscLrh chek 

 

191. Which type of insurance can be possible 
if husband and wife both are employed 

(1) Whole life 

(2) House hold Insurance 

(3) Joint Insurance 

(4) Endowment Insurance 

192. fuEu esa ls dkSu lh js[kk lthork ,oa 
fØ;k'khyrk dk ladsr nsrh gS  

(1) lery js[kk 

(2) frjNh  js[kk 

(3) yEcor~ js[kk 

(4) o`Ùk  js[kk 

 

192. Which one of the following lines 
indicates about the liveliness and activity 

(1) Horizontal 

(2) Diagonal 

(3) Vertical  

(4) Curved 

193. cM+s o izeq[k enksa ij O;; dgykrk gS 
 

(1) iw.kZ ctV 

(2)  vkaf'kd ctV 

(3) larqfyr ctV 

(4) vkn'kZ ctV 

 193. The expenditure on large and main item 
is known as 

(1) Complete budget  

(2) Partial budget 

(3) Balanced budget  

(4) Ideal budget  

194. i¡wth ds fofu;ksx ds cnys tks izkIr gksrk gS 
mls dgk tkrk gS 

(1) O;; 

(2) vk; 

(3) cpr 

 

194. The return which is obtained after money 
investment is called 

(1) Expenditure 

(2) Income 

(3) Saving 
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(4) C;kt (4) Interest 

195. Fkdku gksus ij ekalisf'k;ksa esa dkSu-lk vEy 
tek gksrk gS 

(1) ySfDVd vEy 

(2) gkbMªksDyksfjd vEy 

(3) ,lsfVd vEy 

(4) mijksDr lHkh 

 

195. At the time of fatigue which acid is 
accumulated in muscles  

(1) Lactic acid 

(2) Hydrochloric acid 

(3) Acetic acid 

(4) All of the above 

196. izR;{k vk; gS 

(1) iqLrdky; lqfo/kk,¡ 

(2) Hkkstu idkuk 

(3) ifjokj ds lnL;ksa dh ns[kHkky 

(4) mijksDr lHkh 

 

196. Direct income is 

(1) Library facilities 

(2) Cooking 

(3) Care of family members 

(4) All of the above 

197. ?kj esa rS;kj oL= ls cpr gksrh gS 

(1) /ku dh  

(2) le; dh 

(3) Je dh 

(4) buesa ls dksbZ ugha 

 197. Home- made clothes helps in saving of 

(1) Money 

(2) Time 

(3) Labour 

(4) None of these 

198. ifj/kku ds oL=ksa ds pquko esa fuEu esa ls fdl 
vk/kkj ij /;ku nsuk pkfg, 
 

(1) fØ;k'khyrk 

(2) QS'ku 

(3) volj 

 

198. Which one of the following points should 
be taken into consideration while 
selecting clothes 

(1) Activity 

(2) Fashion 

(3) Occasion 
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(4) mijksDr lHkh (4) All of the above 

199. oL= ds pquko dks dkSu-lk rÙo izHkkfor 
djrk gS 

(1) O;olk; 

(2) 'kkjhfjd vko';drk 

(3) lk[k 

(4) mi;qZDr lHkh 

 

199. Which factor affects in the selection of 
clothes 

(1) Occupation 

(2) Physical needs 

(3) Credit 

(4) All of the above 

200. flykbZ esa Vªsflax-fof/k iz;qDr dh tkrh gS 

(1) Cykmt gsrq 

(2) isVhdksV gsrq 

(3) 'kVZ gsrq 

(4) buesa ls dksbZ ugha  

 

200. Tracing-method is used in stitching for 

(1) Blouse 

(2) Petticoat 

(3) Shirt 

(4) None of these  
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